BT TRIA O - HESHEE R T %%u(izﬁm AXRBE
BT T 4 =2 = = %
X 55,667 59,801 63,090
=z 635 732 732
REFZHT 1,692 1,917 1,884
FEET 227 255 218
FE T 1,066 1,109 1,186
MR 1,378 1,349 1,545
NG 250 261 250
FRET 1,811 1,922 2,053
AE 778 896 931
itz 1,796 1,901 2,043
Fazsdt 2,190 2,651 2,642
TIEET 2,902 3,505 3,756
i 624 724 718
TERET1T 863 897 888
TERET2T 841 902 947
TERET3T 938 1,130 1,189
TERET4T 535 610 624
TERETST 632 786 740
3,809 4,325 4,388
J\E=FHT 807 877 929
J\EILHT 2,351 2,622 2,748
J\EHPFEET1T 4 5 2
J\BTET2T 1,237 1,079 1,229
J\BTET3T 553 554 538
1,794 1,638 1,769
J\EFZHT 435 353 381
®/\H 561 589 623
B 2,353 2,724 2,794
EH 1,325 1,600 1,564
EFALET 2,333 2,320 2,633
EFIRET 1,774 1,595 1,739
EHIFKHET 2,752 2,743 2,846
R R HET 3,607 3,823 4,074
R LT 1,217 1,487 1,504
PRI RHET 1,208 1,349 1,417
EH K ET 1,495 1,616 1,574
RBR 5 4 2
ER1T 559 582 653
ER2T 502 544 576
ER3T 289 313 355
ER4AT 516 596 567
ERST 236 248 251
ER6T 452 479 478
2,559 2,766 2,882
12H 5,567 6,144 6,622
RE 683 688 762
¥& _EHT 1,585 1,724 1,763
RErL 344 352 381
= [RET 1,759 1,244 1,739
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